



aff

August 26, 2016

Project No:

10.002646.0000

Invoice No: 0265457

Jillian Peterson Fort Bend County 301 Jackson Street Richmond, TX 77469

Project

10.002646.0000

Cane Island PO#135757

TOTAL CONTRACT AMOUNT: \$215,275.00 AMOUNT INVOICED TO DATE: \$155,160.90 REMAINING FUNDS AVAILABLE: \$60,114.10

Professional Services from July 30, 2016 to August 26, 2016

Professional Personnel

	Quantity	Rate	Amount		
Document Supervisor					
Mintra Rickelman	10.0	80.00	800.00		
Total Labor				800.00	
Reimbursable Expenses					
Copies			28.20		
Postage			48.72		
Total Reimbursables			76.92	76.92	
		Total th	is Invoice	\$876.92	

Outstanding Invoices

Number	Date	Balance
0263829	6/17/2016	211.91
0264772	7/29/2016	1,172.55
Total		1,384.46

12/20/16

PERCHERON INVOICE DETAIL

Billing Period from July 30, 2016 to August 26, 2016

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Rickelman, Mir	ntra															
8/2/2016	1.000	80.00	80.00													80.00
Work Detail	8.2.16 - M	intra Ricke	man - Fort I	Bend Cour	nty - Cane I	sland - resea	arched Willo	w Bend Ho	meowner's	Association	for Arlene					
8/4/2016	2.000	80.00	160.00													160.00
Work Detail	8.4.16 - M transaction		man - Fort I	Bend Cour											e done to facili	tate
8/11/2016	1.000	80.00	80.00													80.00
Work Detail	8.10.2016 agreemen			ort Bend (County - Ca									ssed ED upd	ate with Bill, S	hellenberg
8/12/2016	2.000	80.00	160.00													160.00
Work Detail	8.12.2016	- Mintra Ri	ckelman - F	ort Bend 0	County - Ca	ne Island - c	reated emir									
8/16/2016	2.000	80.00	160.00													160.00
01.101																
Work Detail		- Mintra Ri	ckelman - F	ort Bend (County - Ca	ne Island - S	hellenberg	deed, phon	ne call wtih I	Mark Desse	ns re: Ever	itt, Williams,	Bain, and	Shellenberg		
		- Mintra Ri 80.00	ckelman - F	ort Bend (County - Ca	ne Island - S	hellenberg	deed, phon	e call wtih I	Mark Desse	ns re: Ever	itt, Williams,	Bain, and	Shellenberg		160.00
Work Detail	8.16.2016 2.000	80.00	160.00												with Leona at	
Work Detail 8/25/2016	8.16.2016 2.000	80.00	160.00													
Work Detail 8/25/2016 Work Detail Total Rickelman,	8.16.2016 2.000 8.25.2016	80.00	160.00 ckelman - F													NewQuest
Work Detail 8/25/2016 Work Detail Total Rickelman, Mintra:	8.16.2016 2.000 8.25.2016	80.00	160.00 ckelman - F											tt transaction		NewQuest
Work Detail 8/25/2016 Work Detail Total Rickelman, Mintra: FedEx	8.16.2016 2.000 8.25.2016 10.000	80.00	160.00 ckelman - F 800.00	ort Bend (County - Ca	ne Island - d	iscussed E	veritt and S	hellenberg	with Mark D	essens, dis		ns on Everi	tt transaction	n with Leona at	NewQuest 800.00
Work Detail 8/25/2016 Work Detail Total Rickelman, Mintra: FedEx 7/31/2016	8.16.2016 2.000 8.25.2016 10.000	80.00 - Mintra Ri	160.00 ckelman - F 800.00	ort Bend (County - Ca		iscussed E	veritt and S	hellenberg	with Mark D	essens, dis		ns on Everi	tt transaction	n with Leona at	NewQuest 800.00
Work Detail 8/25/2016 Work Detail Total Rickelman, Mintra: FedEx 7/31/2016 AP Detail	8.16.2016 2.000 8.25.2016 10.000	80.00 - Mintra Ri	160.00 ckelman - F 800.00	ort Bend (County - Ca	ne Island - d	iscussed E	veritt and S	hellenberg	with Mark D	essens, dis		ns on Everi	tt transaction	n with Leona at	800.00 12.15
Work Detail 8/25/2016 Work Detail Total Rickelman, Mintra: FedEx 7/31/2016 AP Detail 8/26/2016	8.16.2016 2.000 8.25.2016 10.000	80.00 - Mintra Ri	160.00 ckelman - F 800.00	ort Bend (County - Ca	ne Island - d	iscussed E	veritt and S	hellenberg	with Mark D	essens, dis		ns on Everi	tt transactior	n with Leona at	800.00 12.15
Work Detail 8/25/2016 Work Detail Total Rickelman, Mintra: FedEx 7/31/2016 AP Detail 8/26/2016 AP Detail	8.16.2016 2.000 8.25.2016 10.000 Fedex Mir	80.00 - Mintra Ri	160.00 ckelman - F 800.00	ort Bend (County - Ca	ne Island - d	iscussed E	veritt and S	hellenberg	with Mark D	essens, dis		12.15 36.57	tt transactior	12.15 36.57	800.00 12.15
Work Detail 8/25/2016 Work Detail Total Rickelman, Mintra: FedEx 7/31/2016 AP Detail 8/26/2016 AP Detail Total FedEx:	8.16.2016 2.000 8.25.2016 10.000 Fedex Mir	80.00 - Mintra Ri	160.00 ckelman - F 800.00	ort Bend (County - Ca	ne Island - d	iscussed E	veritt and S	hellenberg	with Mark D	essens, dis		12.15 36.57	tt transactior	12.15 36.57	800.00 12.15
Work Detail 8/25/2016 Work Detail Total Rickelman, Mintra: FedEx 7/31/2016 AP Detail 8/26/2016 AP Detail Total FedEx: Katy Office Co	8.16.2016 2.000 8.25.2016 10.000 Fedex Mir	80.00 - Mintra Ri	160.00 ckelman - F 800.00	ort Bend (County - Ca	ne Island - d	iscussed E	veritt and S	hellenberg	with Mark D	essens, dis	scussed term	12.15 36.57	tt transactior	12.15 36.57 48.72	NewQuest 800.00 12.15 36.57 48.72

Bend Co	87		Customer	Original
20160713		Date	Delivery	POD
Spec Proj	Attn: Bryan Norton,	Name	Recipient	
Street	301 Jackson	Address Line	Recipient	**************************************
		1 City Name	Recipient	
Rickelman	Mintra	Name	Shipper	
KATY		City	Shipper	
12.15		Amount	Net Charge	

Prospect: Client: Description: Amount: Cane Island Ft. Bend County FedEx

5315

\$0.00	0	188 \$28.20	188	PRINT	10.002646.0000	Cane Island - PFS
Total B/W	Pages		Pages	Job Type Pages Total	Code	Shared Account Parent Name
	B/W	Color	Color Color		Shared Account Parent	
				3/26-2016	Energy Copy Count 8/13-8/26-2016	
				ice	Percheron Katy Office	

	1			2		
Original	POL					
Reference	Date	Name	Address I ine 1	City Name	City Amount	
Cane Island / Ft.		Attn: Bill	401 Jackson	No.		
Bend Co	20160816	Vidor	Street	AS	KATY 12.21	
Cane Island / Ft.		Attn: Jillian	301 Jackson	RICHMO Mintra		
Bend Co	20160801	Peterson	Street	2	KATY 12.15	
		Attn:				
Cane Island / Ft.	11 1	Richard	11 Greenway	HOUSTO Mintra		
Bend Co	20160811	Kaplan	Plaza	N Rickelman	KATY 12.21	
	S			ir H	36.57	
	7. 2. 1 0. 4. 7					
				Prospect	t: Cane Island	
•				Client	Ţ	
		¥		Description:	redex	
						7
				00/0		8/73
1.		r.				
		•				
		1.61				
		¥			e.v	
e e		ix.				
			$\hat{\lambda} = \hat{\lambda}$	- (
						×
						84
		7				3
		3				12